Efficiency vs dr

v 02

<
©0.18
20.16
c
Q
50.14
=
®0.12
0.4
0.08

0.06f
0.04f-
0.02f-
o

Ratio

Jr— DQMStepla_ZToEIE_CKF
—e— DQMstep3_ZToEE_default

T

1

—— DQMstep3_ZToEE_defaultNEWT
0.5] - #- - =3 .

107

1072 107

[ Efficien

cy vs dr (track,jet) |

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

q:

0.8

Ratio

0.6F

1073

1072

Efficiency vs pu

1
AR(TP, jét)

"
4

¥

B

s a4

Ratio

0.5

+++*+**$** HH, #++

il

=
e
o

%

O

10 20 30 40 50 60 70 80

Pileup

1
TP min AR

-1




	Contents
	Page 1


